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{Adv. Act.)
2016

Time : As in Programme
Full Marks : 70

The figures in the right-hand margin indicate marks.
Answer from all the sections as directed.

(ADVANCE ACCOUNTING)
Section =~ A
Answer any three questions within 700 — 1000
words : 12x3 = 36

1. The following is the Balance Sheet of XYZ Ltd as
on 31. 3 2001:

Liabilities Amt ) Assets Amt )
Share Capital : Goodwill 40,000
50,000, 8% Plant & Machinery2,00,000
Preference Shares Land & Building  1,50,000
of Rs. 10 each 5,00,000 Investments 60,000
Reserve and Surplus1,10,000 Stock 1,00,000
Sundry Creditors 40,000 Debtors 80,000
Bills Payable 10,000 CashatBank 20,000
Preliminary :
Expenses 10,000
6,60,000 6,60,000

VS -1/5 ( Tum over )



(senown] ) (g) S/L —SA

urejdxe ospy ‘sebueyo [eAs| aoud Joj Junosde

o0} sAep asoy) Alessaoau si } Aym ureidx3g ‘¢

eslys

souejeg mau aiedaid pue 'pi gV Jo syoog
S} Ul SaUjUT [BUINO MOYS O} palinbai aie NoA
"an[eA 3ooq
1E JOA0 USYE] ale saljijiqer] pue sjessy uy (Il
‘yses Buiked Ag
pafiieyosip aq [m %01 oueeq syl "pi] gy
jo sareys Aunba jo anssi Aq pabieyosip
aq |m siepjoysieys Aynbs jo @_Em (1)
‘saseys g Aana Joj Jed Je yoes QL
‘sy 1O ‘PI7 gy Ul saseys g jo abueyoxa uy ()
: SUORIPUCD

Bumojjo} e uo "py] gy AuediLIOD mau B LLo) pue

sewebewe o} saibe sauedwos oM srode ay |

EEO.U ANV m.ﬁrlm.?

1006 00000 WEBZUSED 00000 000E OSSO BUId

002 0006 Soeq 000001 — SRRk

00006 00008 woig — 00006 Sumuegeq %0l

00004’} 000TCET aﬁiﬁ 00000k 0000 UPeR 0L S¥IO

3 Weld saseys Aunb3

oy1g PI1V  Sessy PIg PV SORiGEN
. SMOJ|O} SE B8 Z00Z ¥ 'L 8 SB PF]

g pue ‘Pr] V4O SI3ayS Soueleg pasueuLInS Ul ¢
‘Auedwoo

alp} JO BIEYS YOBS JO SNEA 3L UIELS0SE O} pojse

aje noA ‘uoieuLojul sA0qe SU} wold




(1enowiny ) (g) G/L — SA

-areys Anba )i JO SN[EA 3L sjenojen Aueduwiod

e 0} Bunejal :n_umEEE_ Buimojjo} eyj woi4 '8

‘uoneISPISU0D

aseyoind Buiejno|ed Jo spouRtl Juaiaylp

ay) ssnosig ¢ uonelapisuo) Iseydingd sijeup L

0002 ¥ ' UO painboe sem ‘pr S

J1 pY1 H J0 198US SOUEEd Eﬁ_u__amcnu asedaid

000'6E'S 000001 000'BE'E 000500}
000  — Ivssol R old 00G'1E  000'S0L SIOUPRUD Aipung
— —  f(eamus — (0009 9vSSOT RO

— ooook'z 000'%2)PNIS 00SL 00008 ahesey [esURY

U} JUBWSBAU| 000'00'E 000'05'L yoes
00612’} 00007’  SIesSy WD 0l 'Sy Jo [eude)
00005’} 000'GLY  SiessypeXd sareys funb3a

‘P1S PH qossy TS PIIH  SOWIGEN

"PIueD (¥) G/l —SA

- uanb se ase L00Z €0 'LE

Je se sauiedwod oM} JO sjoeyg aoueeg 3yl 9
¥Z = €x8
: SpioM 00 UM suonsanb eaiyy Aue JoMSUY
g — uonass
‘6¥6L WV
uoneinBey Bupjueg Jo 11l — SINPIUDS 30 suoisinoid
ayy 0} Buipioooe fuedwod Bupjueq e Jo 1934s

souejed fuuedaid J0 1euLIO} uswpads BAAID G

sjo8sYy JO UOHENIOASY (@)
aleyg snuog jo anss| (e)
. sway Bumojio} 2Uj Jo SouBE] pajeplosuco

10 uonesedaid sy} Ul sueal} Bugunoode SAID ‘¥

-soBueyo-jers)- eoud Jo} BunuNOJ2E

aliym swal! Alelououi-uou pue Ajglauouwi



(v APY)
g1z ~y— UWOO M

-30g90 Pig-300d () (002) G/L — SA

2 Jobiaw jo ainjeu
ay ui uonewebjewe ue Buneal) 10} paysnes
9 JSNU YDIYM SUORIPUOD JuSIayip du} I8 JEUM FL
¢ dnou auy jo Angel|
B ) S| & Jsesejul Auou, ajenjess noA op MOH ‘¢l
"uogeyul
Buunp 1s09 |BJ10}SIY UO paseq Bununoodoe
JEUOIJUSAUOD JO sBuiwoo-poys ay) ssnasig ¢l
‘saleys sy}
Buinjen Jo} ,POUISIN UORENIEA PIBIA, PUE ,POUIRIN

Bupjoeg 1essy, Ueameq souJapip ayysileym 'Ll

0L =ZxS
: SpIOM QO UM suonsenb omy Aue Jamsuy

~ — uono3g

‘PIuoD (9)

serousbunuoo pue suoisinold (q)
S0[0U Loys pue [[eo je Asuolyy ()
L jusugeas

Bununcooe yym Bumoiios 8y} uo saj0U Joys SNAA

‘Bupodal |ewape
ul s}1@sse uewny jo sanjea ayj Jo uoisnjoul

8yj Jsuiebe pue Joj sjuswnbie ay; ssnoasiIg

"%0¢ — WnjaJ jo sjel [euloN

'000°00'Z sy — xe} 8i0jaq Jo1d papadxy
'%0G — Xe} jo ajey

%0T — anSsay [elousg) 0) Jajsuel) [enuuy

‘pred A0y yoea g 'sy jo
S8Ieys 000°00'L — [eyde) aieysg soualajely %9

‘aleys Jad dn pied g sy pue yoes (| "sy

|, 39 Seleys 0000l - [epde) aseys Ajnbg panss

S/l —SA

01




DDCE-3rd CBCS-M. Com, —
A=211 (AIS)

2016

Time : As in Programme

Full Marks : 50

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

{ACCOUNTING INFORMATION SYSTEM)
Section - A

Answer any three questions within 700-1000
words ; 8x3 =24

1. Explain voucher maintenance system in tally 9.

2. Why Computerised Accouting is considered
better than the normal accounting ?

3. What is Transaction processing system 7 What
are its features ?

4. Construct the transaction processing systems, as
per the financial accounting software package of

VS-2/3 { Tum over)
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DDCE-3rd CBCS-M. Com. —
A-212(BT)

2016

Time : As in Programme
Fulf Marks : 70

The figures in the nght-hand margin indicate marks.

Answer from all the Sections as directed.

(BUSINESS TAXATION)
Section -A
Answer any three questions : 12x3 =36

1. Alpha, Beta and Gamma are working partners in
ABG firm sharing profits and lossesin3:2:1:

Profit and Loss Account
For the year ending 31. 03. 2014

Particulars Amount in Particulars Amount in
Rs. Rs.
To Purchases 950,000 By Sales 17,00,000
+ Salaries and Wages 200000 » ClosingStock  2,40,000
» Depreciation 1,50,000 » Interest on Drawing
+ General from Gamma 10,000
Expenses 200,000

VS - 3/4 ( Turn over)
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Section - C
Answer any two questions : 5x2 =10
1. Explain the provisions of Minimum Alterative Tax

applicable for the companies under the Income
Tax Act, 1961.

2. Explain the provisions relating to partnership fim
to be assessed as association of persons.

3. Explain the situations where the tax can be
deducted at source.

4. The total income of XYZ Ltd., a domestic
company computed under the normal provisions
of Income Tax Act, is Rs. 2,50,000. However the
book profits of the company (calculated u/s
115JB) amount to Rs. 8,15,000. Calculate the tax
liability of the company for the Assessment Year
2014-15.

VS — 3/4 (200) (6) DDCE-3rd CBCSM. Com. —
A-212 (BT)



DDCE-3rd CBCS-M, Com. —
B - 213 (FMI)

2016

Time : As in Programme
Full Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

(FINANCIAL MARKETS AND INSTITUTION])
Section - A
Answer any three questions within 700-1000
words : 12x3 = 36
1. Discuss the nature and role of Financial System
(FS) in India. Justify if the current state of Indian

Economy is directly related to the development
of its Financial System.

2. Outline the various capital market instruments.
State, why despite being one of the barometers
of economic growth, capital market is not able to

attract investors from all strata of the society.

VS —4/3 { Tum over)
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12. Discuss the use and importance of Prospectus
and Red Herring Prospectus. '

13. Define Bills of Exchange. Is it same as
Promissory Note ? Discuss the relevance of Bills
of Exchange is the smooth functioning of the
business. :

14. Explain the role of Private Placement in Capital
Market. Under which circumstances, Private
Placement route is chosen ?

*
#‘9

VS — 4/3 (200) (4) DDCE-3rd CBCS-M. Com, —
B- 213 (FMI)



DDCE-3rd CBCS-M. Com, —
B-214 (MB & FS)

2016

Time : As in Programme

Full Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

(MERCHANT BANKING & FINANCIAL SERVICES)
Section - A

Answer any three questions within 700-1000

words 12x3 = 36

1. Define and classify financial services. Which are

the institutions that provide such services ?

2. What is the emerging scenario of Housing
Finance in India 7 Evaluate the role of National

Housing Bank.

3. Define venture capital. What are the methods and

processes of financing venture capital ?

VS - 5/3 { Turn over)
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DDCE-3rd CBCS-M. Com. —
B -215(SA & PM)

2016

Time : As in Programme

Full Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

(SECURITY ANALYSIS & PORTFOLIO
MANAGEMENT)
Section — A

Answer any three questions within 700-1000

words : 12x3 = 36
1. Discuss the important investment avenues

available to investors in India and risk involved in -

Indian Stock Market.

2. What is indifference curve ? How is it useful in
Portfolio analysis ? Explain with suitable

examples.

VS -6/3 ( Turn over)
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DDCE-3rd CBCS-M. Com, —
C-216(CB)

2016

Time : As in Programme

Fult Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

(CONSUMER BEHAVIOURY)
Section - A
Answer any three questions within 700-1300
words : 12x3 = 36
1.  What is the importance of Consumer Behaviour

in Marketing and What is the scope of this ?

lllustrate with suitable examples.

2. Explain the motivations and personalities of
those who influence the consumer i.e. the opinion
leaders, and also of those who are influenced,

i.e. the opinion receivers.

V8 -7/3 { Turn over }
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DDCE-3rd CBCS-M. Com, —
C - 217 (APM)

2016

Time : As in Programme

Fult Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

(ADVERTISING AND PROMOTION
MANAGEMENT)
Section - A
Answer any three questions within 700-1000
words : | 12%3 = 36

1.  What is the relevance of Advertisement in the
Communication integration process and what
are the steps of Advertising Management ?

2. What is the importance of message designing
and positioning and what are the factors

considered for these ?

VS - 8/3 ( Tum over)
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DDCE-3rd CBCS-M. Com. —
C-218{(S & DM)

2016

Time : As in Programme

Full Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

(SALES AND DISTRIBUTION MANAGEMENT)
Section - A
Answer any three questions within 700-1000
words : 12x3 =36
1. What is the importance of Sales Management in

Marketing 7 Describe the interdependence
between Sales and distribution functions.

2. What is the importance of Saha Organisation
and what is the process of designing a sales
organisation ? ‘

3. What is the importance of Performance
appraisal, motivation and compensation in
Management of Sales Force ?

VS -9/3 { Tum over }
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DDCE<3rd CBCS-M. Com. —
D-118 (HRPD)

2016

Time : As in Programme
Full Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

(HUMAN RESOURCE PLANNING
AND DEVELOPMENT)

Section - A

Answer any three questions within 700-1000
words : 12x3 = 36

1. What is HRP ? Discuss the importance and
process of HRP applied in the HRD Systems ?

2. Define HRD. Briefly discuss the objective and
function of HRD. :

3. Discuss the conditions for success of Quality of
working life in an organization.

4. Briefly discuss the different intervention of
HRD.

VS —10/1 ( Tum over)
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DDCE-3rd CBCS-M. Com. —
D-120 (MER & RL}

2016

Time : As in Programme

Fult Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directfed.

(MANAGING EMPLOYEE RELATION &
RELATED LAWS)
Section - A

Answer any three questions within 700-1000

words : 12x3 = 36
1. Explain the concept of Collective Bargaining. List

out the steps to make collective bargaining

effective.

2. Write an essay on ILO, bringing out clearly its
principles and its impact on Indian Labour
Legislation.

VS -11/3 { Tum over)
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DDCE-3rd CBCS-M. Com. —
D.- 121 {MTD)

2016

Time : As in Programme
Full Marks : 70
The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

Section-A

Answer any three questions within 700-1000
words : 12x%3 = 36

1. Define Training. Explain the on-the-job and
off-the-job method of Training.

2. Define Learning. Briefly discuss the learning

environment.

3. What is Training Evaluation ? Explain the steps
and methods of Training Evaluation,

VS -1211 ( Turn over )
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DDCE-3rd CBCS-M. Com, —
222 (P & OM)

2016

Time : As in Programme

Full Marks : 70

The figures in the nght-hand margin indicate marks.

Answer from all the Sections as directed.

(PRODUCTION & OPERATION MANAGEMENT)

Section-A

Answer any three questions within 700-1000
words : 12x3 = 36

What do you mean by Plant Location 7 Discuss
the factors affecting plant location.

Differentiate between production layout and
process layout and explain their competitive
advantages and disadvantages.

Explain material requirement planning and briefly
explain different components of material
requirement planning.

VS~ 13/3 { Turn over )
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10.

11.
12.
13.

14.

Consider the following activities in a given
project. Compute the earliest and latest event
times. What is the minimum project completion

time ?
Activity Predecessor Time
A St 5
B A 4
C e 7
D B,C 3
E C 4
F D, E 2
~Section-C

Answer any two questions within 300 words :
5x2 =10

What are the basic inputs for MRP ?
Describe the procedure of the plant layout.
Write a brief note on just in time management.

Differentiate between PERT and CPM in brief.

.
e

VS —-13/3 (400) (4 ) DDCE-3rd CBCS-M. Com.—

222 (P & OM)




DDCE-3rd CBCS-M. Com. —
223 (BP & SM)

2016

Time : As in Programme

Fuff Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

Section - A

Answer any three questions within 700-1000
words : 12x3 =36

1. What are organization objectives ? Discuss the
characteristics and the guideline for formulating
objectives.

2. Why should organization analysis the
environment 7 How the intemational environment
is to be analyzed ?

3. Define Change ? YWhat are the challenges faced
by the manager at the time of implementing
changes in the business policies ?

VS - 1411 ( Turn over )
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DDCE-3rdCBCS-
M. Com.— 224
(C & MC)

2016

Time : As in Programme
Full Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Groups as directed.

(COST AND MANAGEMENT CONTROL)
Group - A

Answer any three questions within 700-1000

words ! 12x3 =36

1. The sales turnover and profit during two years
were as follows :

Year Sales Profit
(%) (%)
1994 1,40,000 15,000

1995 1,60,000 20,000
You are required to calculate :
{a) P/V ratio

VS - 15/4 ( Tumover)
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10. With he following data for a 60% activity, prepare

1.

12.

13.

14.

a flexible budget for production at 80% and 100%
capacity :

Production at 60% capacity 600 units
Material Rs. 100 per unit
Labour Rs. 40 perunit
Direct Expenses Rs. 10 per unit

Factory Overheads Rs. 40,000 (40% fixed)
Administration Expenses Rs. 30,000 (60% fixed)

Group-C

Answer any two questions within 300 words :

5%x2 =10
What is Margin of Safety ? How is it determined ?
Explain.

Distinguish between Scrap and Spoilage. Also
give their cost accounting treatment.

Distinguish between Cost Control and Cost
Reduction.

How Cost Audit is differént from Financial
Audit ? Explain.

3

VS — 15/4 (200) (4)  DDCE-3rdCBCS-

M. Com. — 224
(C & MC)



DDCE-3rd CBCS-M. Com. —
225 (IB)

2016

Time : As in Programme

Full Marks - 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as directed.

{INTERNATIONAL BUSINESS)
Section -A

Answer any three gquestions within 700-1000
words | 12x3 = 36

1. "“A company that fails to go global is in the
danger of losing its domestic business to
competitors with lower costs, greater
experience, better products and in a nutshell,
more value for the customer.” Discuss.

2. Give a brief account of the differences in the
economic and socio-cultural environment of
business between nations and their implications
for business.

VS - 16/3 ( Turn over)



(a1 szz
— W) W-S080PE39ga (€ )

*

"BIpU| Ul |Q4 Ul Spual] [BI0j0sS By} aquosa(q

¢ Buminos jeqo|b

PUE uoiiadwoo-19]uno uo 330U 181q B ajlupA

‘uonezijeuoneusajul

40 sJ0j08} |Ind pue ysnd usamiag ysinBuysig
‘uoneziieqo|b sy buusisoy ui ABojouyoay jo
S04 3} sulwex3 ¢, ABojouyos) Jo Jajsues) st Jeyps

0L =¢x=gG
- SPIoMm 00g UIyum suogsanb omy Aue Jemsuy

2 — uonoeg
BIpU| O Juawdojeasp alwouoos auy

ur padiey aney saijod asay) 5t ‘ajdwexs ueasjal

Aue yum ‘sjelg ¢4 Aoijod snwouoas mau S1 1BYM

"Blpu ul Jusugsaaul uBlauoy Jo Joedu
84} sjen|eA3 ‘sapjunos Buidojaasp ul jeydes

ublaioy jo aouenodw| pue 3[04 3y} ssnosi(g

(002) £/91 — SA

7l

€l

k4

L

0l

6

‘Puon (z) £/91 — SA

‘S81unoo Buidojasep Jo sawsyos uoneiBayu

[euoibai jo Junoooe |eonio pue 8lq e 8l

'$seulsnq [euopewsiul sjoaye abenbue;
jo Ajixajdwon pue-snoibija; moy sye1g nen
[EINYNO pue ooys [einind usamjaq ajenuaiayiq

Jamsue InoA sjenuelsqng ¢ Aym pue Jueasial
isow sy} "puy nok op ‘Auoay yoaiyaa "§sauIsng
|EUOHELIBIUI JO SBlI0BY] SnolJeA ayj aulinQ

vZ =£xg
- SPIOM 00g Ulyym suonssnb aauly Aue Jomsuy

g — uonosag

‘uoneiBeajul jeqojb ul sONN
Aq pefeyd sjo1 ay SSNosIq "sONW Jo aouepoduul
Buimoib ay) puiyaq suoseal 2yl asA|euy

‘umopyeslq sy Joy ajqisuodsal siope)
oL} BjElS "SPOOAA UOYaIg Japun WejsAs Aejsuow
|[BucnewIajul Jo sainjes; jusijes ayj 1no Buug

‘SYOBRGMEID PUE SjauSsq JIsy)
SUILUEXT "OLA PUE | |9 Usamiaq slenualayiq



Bl paies

2016 Paper Code- 1310318205
FULL MARKS= 70
TIME-3 HOURS
Answer questions according to Generaf Instruction of each section,

SUBJECT- URBAN DEVELOPMENT
Section — A (Answer Any Three) 12X3=36

. What is rural — urban migration? What are the various measures

taken to prevent rural — urban migration?

. What is urban planning? What are the problems encountered

during urban planning?

. Evaluate the role and the function of transport network towards

the development of socio-economic condition of the country?

. What do you understand by slum management? Write down the

initiatives taken by the Government of India to curb the issues
urban slums?

. Write down the role and composition of SDA.
Section — B (Answer Any Three) 08X3=24
Define pollution? Discuss its various types?
What are the different dimensions involved in the management
of a city?
What is urban poverty? Discuss its various measures taken to
prevent.
Write down the different measures taken towards the
development of sub urban areas in a country.
Write down the process of water treatment.
Section - C' {Answer Anyv Two) 05X2=10
Write shorts on
Causes of migration of India
Function of Air Port Authority of India
Urban public health
Urban finance.
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